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Figure S1. OCP (vs. SCE/V) distribution maps of the WBE1 after immersion in

artificial seawater at different temperatures: (a) 30°C; (b) 40°C; (c) 50°C; (d)
60°C; (e) 70°C.



-0.1 8
-0, 14
-0, 16 7 SE-007
Z -0, 22 26 2E-007
= 0. 28 2 1E-007
s 0.3 = o
E 0.34 ] -1E-007
% e 28 —E ~2E-007
= -0, 42 =2 e
0. d4d 3007
. —4E-007
E(vs. SCE)/V .
4 I/A
5°6 7 8 9 10 11 12 ’ 6 7 8 9 10 11 12
Number of line Number. of line
(a)
8
SE-007
TE-007
BE-007
5E-007
= = 4E-007
5 2 3E-007
I o 2E-007
. 1E-007
5 ° 0
5 5 -1E-007
o 2 —2E-007
.J% E ~3E-007
~£-007
= = -5E-007
I/A
5 6 7 8 9 10 11 6 7 8 9 10 11 12
Number of line Number of line
8 017 88007
e TE-00T
B 68007
-0.23 - SE-007
= 0. 25 z 4E-007
2 0. 27 o 3E-007
-0. 20 o ZE-007
o BT 1E-007
0. 33 0
5 0. 35 5
2 : —1E-007
= 0.5 2 oo
E .38 5
= 041 = -3E-007
ot —E-007
—5E-007
E(vs. SCE) /V ,
i (- S /A
5 6 7 8 9 10 11 12 ]'l 2 3 4 5 6 7 8 9 10 11 12
Number of line : : Number of line
()
§ 8
-0.14 5. BE-007
] 7 T. BE-00T
.18 5. SE-007
y B, 5E-007
g9 0.2 56 4. GE-007
2 0.26 £ 3. BE-007
e L 2. GE-00T
59 0.3 G 1. SE-007
0. L EE-008
£ 0.5 D4 -5E-008
< -0.38 —% -1. SE-007
S 2. BE-007
= -0.42 = 2 5ot
-0.46 -4, BE-007
E(vs. SCE) /V I/4
5 6 7 8 9 10 11 12 6 7 8 9 10 11 12
Number of line Number of line
8 8
0.1 9.56-007
-0.14 8E-007
-0.18 6. 5E-007
g -0.22 g 5E-007
5 = 3. 58-007
-0.26
B 0.3 3 2E-007 .
5E-008
3 -0.34 5 oo
2 a 7
E -0.38 = -2, 58-007
= -0.42 = ~4E-007
-0.46 -5, 5E-007
E(vs. SCE) /V I/A
@ =
5 6 7 8 9 10 11 12 6 7 8 9 10 11 12

Number of line Number of line



(e)
Figure S2. Spatial potential (left, E vs. SCE/V) and current-density (right, I/A) distribution maps
of WBEI after being short-circuited for 12 h in artificial seawater at different temperatures: (a)
30°C; (b) 40°C; (c) 50°C; (d) 60°C; (e) 70°C.



